Grab a ruler from the front table and open your book to p. 234 and
Warm Up on Got It a and b. Have your homework out ready to check.
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Classwork - Solving Systems of Equations

Got 1+7 Do these problems to find out.




1) Write the following equations that are in standard form in slope intercept form. b
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Graph the ful]nmngaquatmm to find where the two lines intersect. Emelhenumbtr of solutions and the
solution in ordered pair form if there iz 1 solution.

Dy =3x—4 and y==2%+3 Hy==2x+2and y==2x—=2
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Solve the following equations, Possible answers include (No Solutions, Infinite Solutions, or x = #)

8)8x — 16 = 4(2x — 4) 9) —2x+9=—-2x+5 10) —9x + 3= =3(x - 5)
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Systems of Equations

Two or more equations with the same set of variables are called a
system of equations. For example, y = dx and y = 4x + 2 together
are a system of equations,

You can estimate the solution of a system of equations by graphing
the equations on the same coordinate plane. The ordered pair for the
point of intersection of the graphs is the solution of the system
because the point of intersection simultaneously satisfies both
equations.

Example =)

1. Solve the system y = —2x — 3 and y = 2x + 5 by graphing.

Graph each equation on the same
coordinate plane.

The graphs appear to intersect at (—2, 1),

Check this estimate by replacing x with

—2 and y with 1.

Check y= —2x=—13 y=2x+5
1= =2(—=2) -3 1Z2(=2)+5
1=1v 1=1v

The solution of the system is (—2, 1).
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Got 1+7 Do these problems to find out.
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Gregory's Motorsports has motorcycles (two wheels) and ATVs
(four wheels) in stock. The store has a total of 45 vehicles, that, _:H 2 S -T‘ '
together, have 130 wheels. ‘x .h‘- 3

2. Write a system of equations that represents the situation, 3:-& -ag %
oyl

Let y represent the motorcycles and x represent the ATVSs,

¥ $ = 45 The number of motarcycles and ATVS is 45
2y + 4x =130 The number of wheels equals 130.
( o
3. Solve the system of equations. Interpret the solution. 2»-0 'LS) "‘1‘51"
Write each equation in slope-intercept form. Graph both equetions .
Xx+y=24 2y + hE on the same coordinate SKIONT T T T 1T
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ek Number of ATV
x+y=45 2y + 4x =130

20 +25 L 45 2(25) + #(20) < 130
45 = 45 130 =130 v



Got 7 Dothis preblem to find out.
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c. Creative | Cﬁﬁs. gives
scrapbooking lessons
for $15 per hour plus
a $10 supply charge.

Scrapbooks Incorporated E * 'l

gives lessons for $20 per
hour with no additional
charges. Write and sclve a
system of equations that
represents the situation.
Interpret the solution,

X= ‘“—Mlu"g

Total Cost

X

12 3 4567 8 91
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